@ [
§ L
91071:_
[S) E
107
10°F
_9100%: o108 ! |
s E.lk L s ) :
E 1-—--- r- 4 : § *k;'
0.95F -~ {-H-A4-FrHAT<F Ha-F- 4 1 FkHTEEHE b HE - [ :
%372 -1 0 1 2 3 92327 -1 o0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_TT__CKF_ORIG
—«— DQM_TT__CKFLowPtT_ORIG
—«— DQM_TT__CKFLowPtT_MODIF
=~ 1= =~ 1=
£ - £ :
°e )
S =
o s
=t S
1071 1071
1072 s 1072 E=:
01013L_||||I||||I||||....I....I.... Olou%_uuuuluuuuluuu:||||I||||I||||
K E g E i }
o LOSE--1-HA-HHAT - THE - ke - b T o = - Tl .
15_. L i 0.95 E_ L . i
0953571 0 1 2 3 09327 10 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

2 -1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


